KEREMREGFTANANERE=S) UV RAERR

~ N == = 5| HII== 48 5 W %ﬁ%ﬁ%ﬁ;ﬂi’%g
Ho YU EHEH i Fr7E Hh BIFEHZAT DR /9 )
L g bt Q) 0.056
= myrm i ” N i RO 0.056
20164E108 78 RHAEEREEVS— HE 8 :
mHIREEY REATHAL X L ERTS11E H#h SERG 0056
i R@ 0.056
L ub et Q) 0.11
= a " — i RO 0.11
20164E1086H FERES REEARTREX 1489%t
B R ==1:] Fith BHERD) o1
i R@ 0.056
a - EihiERO 0.31
20165108 7H W rE BT R & 15 REARTR XK =447t
B A P X R ET T = #h44 2 ih HERD 028
i ROG 0.28
a a i R@ 0.22
20164E1086H L EMRE 15 REEART L X i
B R e EPET HIERG) 0.39
i RO 0.22

MEZR) T ABERE R . FTARRANEZAYLTT=aTIL(FELIOMR) I2LD




